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if f(x) is continuous GE##) on the closed interval [a,b] and k is any
number between f(a) and f(b), then there is at least one number c

in [a,b] such that f(c) =k

EF AN ENEEENERSERRE f(x)=x"—-4"-2x+1 7 [0,1] ZHE
DHE—ER -

AD £ AABC BYth#% (D 7 BC £ )+ H Bhiff AC L H BHLAC: 3 AB=12"
BC=10+AC= 14" H| DH BRI ?

n Bl vo2—7n—1 EREE Hl 0 Rf?

D

# tanx+cotx=a B tan®x+cot®x A a RRK?
K (cosx)®® — (sinx)?° = 1 A EBIRAI—BAE 2
WM 2.34+4-32+6-33+..-+(20)-3° ZHI?

EHFR anss = an— 52 H ai=1 8 lim a; RA?

HERRHNFESEEREERERTR  FENEEREXTFERBRIFR
EHBE L EXFHERHBREE/MTR - RIZANH /N FRAHBRER
T BIREZEE TG - BAESEA/E o B 1 RERT/\E BRI
B ZERTERMAL 1 R BERMAILL o RR - BHIRR - BF 139
EUZEMBFRTIRR ¢ 100010115 » Bl

130 =1x2" +0x 26 +0x2B+0x2*+1x22+0x22+1x2+1x2°

10001011, B EMERERNE T I T - =2EpR
FHENT 139 FINENBERETY - 55— T XFRUVERFRET 1
M THESFE 12788+ 62 10 » 18 » 36 » 255 » 3 H It Hr XX F AR FE

-

REHEABZEE 1



101/04/14 B RABEER 2012

Z.@BE B EE 1D

(1) EE—BEERUT=ARHAH - i :

FIE n =4 H8{ n=5
1 1
2 5 2 6
.3 6 8 -
4 7 9 10 4 8 11 13
5 9 12 14 15

EAEM NI o WEFEBESH Y Fi,0 » r BREF . c RET :d
EERMEE r B c WAERN  ERFENSETUERBRR Fr,o K
S F(r,c)? BER r B c BH 1 BE EHELFIH o =5 Rl FG,2 y=4
7+ F(5,3) B 12-

(2) ¥EF 2° > n?>'n > 4
(3) 3R (tanx)®"* = (cotx)*** R — ik fi%

(4) & a' b c HIREBE - H a8 +2b8 =4cf FBHH a=b=c=0

2 RBEEARE R 2



